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Information
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Reflection

An object can be reflected across a line of reflection to 
produce an image of the object.

Each point in the image is the same distance from the line of 
reflection as the corresponding point of the original object.

line of reflection
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Reflection
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Created reflections
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Reflecting shapes

If we reflect the quadrilateral ABCD across the line of 
reflection, we label the image quadrilateral A′B′C′D′.

object image

line of reflection

The image is congruent to the original shape.
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Line of reflection
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Finding the line of reflection
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Construction a reflection
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Proving congruency
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Reflection in the coordinate plane

Points can be reflected on a coordinate plane.

reflection across 
the y-axis

reflection across 
the x-axis

reflection across 
the y = x

(x, y)  (–x, y) (x, y)  (x, –y) (x, y)  (y, x)

The line connecting a point to its reflection is always 
perpendicular to the line of reflection. 
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Reflection in the coordinate plane
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Reflecting patterns

A tile setter is tiling a kitchen floor. He has one quadrant 
complete but needs to recreate the pattern in the other three 
quadrants. He wants to reflect the pattern over the y-axis, then 
the x-axis, and over the y-axis again to complete the floor.

The center of a red square is located at (–7, 7). Where will 
this square be located in each of the other quadrants?

Reflect tiles over:
x-axis

Find coordinates of the red square in the 
other quadrants:

y-axis

(–7, –7), (7, 7), (7, –7)

y-axis
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Reflection of a function

Given: y = g (x) = 2x + 3. Reflect the graph over the x-axis. 
Find the equation of the new graph, g ′(x). 

reflections across the x-axis, 
(x, y)  (x, –y): g ′(x) = –f (x)

substitute for f (x): g ′(x) = –(2x + 3)

distribute: g ′(x) = –2x – 3 

reflection of a function across the x-axis:
y = –g (x)

y = g (–x)
reflection of a function across the y-axis:

y = 2x + 3

y =  –2x – 3
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Summary
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